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la.
b.

(06 Marks)
for it in terms of

(06 Marks)
c. Find : i) Current in l5Cl resistor ii) Voltage across.lSCl resistor iii) Power dissipatcd in 7O

tez An swe r any FIVE full que stions ffiqos ing ONE ful,
d= -Y

;3fuB{baute-r
State and explain Kirchhoff s.l4.$&u:r

Define RMS value of an alteriiating quantity. Obtain
maximum value.

resistor as shown in. pircuit diagram. Fig.Q 1(c).
,\

..,.-ri;i, ..i#F:.' l. n *"_._j&-- . ,

or,. 't I.,q;*. fW____"^\' ;" l@sefu ,r____\ rrL_l L_llfu*]- r,6qrS.o- tl I _''%r - - Esv

questienf,nom

ffi
,&.

an expresslon

-\

ffi 
(08Marks)

...:

and*fiiid its relation with its
(06 Marks)
(06 Marks)

iv) Frequency v) Instantaneous

" Fig.Q2(c)

.,=.,.",,r,, Module-2
Show that pure inductanee'ddes not consume any power. Draw the wave forms of voltage,
current and power. WheEffi altemating voltage is applied to a pure inductance. (06 Marks)

In a three phase deJta ebnnection, findthe relation between line and phase values of currents

and voltages. AIS@Nkrtve the equation for three phase power. (06 Marks)

A series R-L&fiIrcuit is composed of a 100 ohms resistance, lH inductance and 5trrF

capacitance. {"voftage of V(t) : 141.4 cos 377t volts is applied to the circuit. Determine the

current aq{ vdltages Vp, Vl and Vc. i .A (08 Marks)
,'l1l[*:r=:'i: I Of 2

:, : rlr'Ilr

,,, 1li .,. ii .
:i ''r

(08 Marks)

3a.

b.

c.



4a,

b.

c.

18ELE13/23
OR
n.a UV an R - t,@s circuit' Draw tnt Yin:,ffi(06 Marks)

iirlJ,i'?li;;;';ffi;il;J.a ir,rp.a-ces are _co;1.e9ied^in 
star, across a 3 phase 41sv'

^n , n-r^---^:.^^ +L^ -^*nmatarc
etted i

of voltage, current and Power'
Yv,s/u o r'rwv v-*-- I-]**- r- ,,,'- ;" f n t0.4. Determine the parameterS
50Hz supply, the line current drawn is 20A, at a la$'gigtg n'f or' 

,-q:,:i 
-*5 (06 Marks)

of the impedance in each Phase'

connected circuit with the aid of neat circ#
,{;

phasor diagr-a $=*( &i:r.:- ,
1T::W'd

(08 Marks)and

.J=qt*
8 a. Derive an equ&ffiYorthe torque d

-,- -!l ra?rrr^ r I

;+. v ^r

a. Derive an equation:for the torque deve[ryd in th:.uyut"re 
of a DC motor' (06 N'Iarks)

;. il; i; niglJ;"d N v/s r" chardtohltics of : i) shun{ ffotor ii) series motor
,, &--- :-^-l:^^+:^-- ^f -o;sh.,anfnr .*. 't * (06 Marks)

Mention tw-o applications of eachm*otor
A r^^ti"i,' 4lov lan connectbd DC

Shuntmotor ii
,j.Sq;:ffii

Mention twp applications of eactlFsotor' .{'-.5
" o;;i.p'til:'f,'^il 

".r""ptuo- 
flc ,horrt motbffiilis 36 slots, each slot containingw' i;;{d};" iiai"l*. u %t&,fu'of 40A Tqln*'*'r;lT *'1'::.':.T:'^,11:ffiIf

;"ri6;S".""ui"'i10o ;"&p}.-tr resp-ectively* th" motor-develops an output power of 6KW'
,,{-- . ,A r*rli" n^r^--l^+^ .

,Ih-e flux per pcile is 4pm \frt"b. Calculate '

*,#r," speed tD i#.i$|r" i'*'"r"p"i ufiib'armature iii) The shaft torque. (08 Marks)
d-;ffilfh" spied ii),Fdbi+prque developed bythb armature ul) t he shalr torque' (ud tvrarKs,,

"';'" ': $',r+' Module-S
9 , a. Derive the emfeq;ation of an ryo"htor.rs generator. (06 Marks)
- 

;;. o"tr" slip o.f,atr 
'induction 

motoi an[ derive expression for frequency of rotor current'
(06 Marks)

(06 Marks)
(06 Marks)

(06 Marks)

(06 Marks)

at 1000 rpm, the flux per pole being 0.5 wb. calculate the emf

ing factor ir O.gZ and all the conductors in each phase are in series the
(06 Marks)

a.

b.
c. ing of a two-way ari&fitiree way control of lamp'

With a circuit diagram' explaT thgeworktng ot a two-way ane,rrrlrcc way rJu,Lrur v
(08 Marks)

full load and;fl.$labad of 60urr.w. uercfi,**flp"Ills srrrurt,uvJ ot uQrr ruu rvev' E^r^!r r- -

.{ \ 4..:,: (09 Marks)
Iactor. * k*fi

'd 'r'{ Module-4 :'

.r+*.i :- -.. .. c ^-{*-ffi ,=tI* (o6Marks)" a n "..s .r (06Marks)
DeriffiL*e EMF equation of a D@g$brator' ,,,f l t^^tr^-,.a\
ff#l]'-fl,J0-Jilffi ffi ;;;'fffi; r. ii.' i gn rn 

" 
u*L r

Give the constructional details of and shell type of tran"sformer'

Derive the condition for which iency of u ffansformer is maximum'

OR
Explain clearly the woS<iflg principle of a three phase infuctiol.3llor'

Lorr"'""t"a alternator has an armature with 90 slots and 12 conductor

6a.
b.

c.

7a.
b.
c.

..,$-'=, ' OR "t:tSrq ' ,r..- (06Marks)
With a neat figure, ex$a{h-ptpe eaflnmg' w{.,- .

What are the ,rri",*jffi#'fni o""". ini.*"sfoqei?6ive the equations for these loses'

-*'dru ''s" 
^*, ^r ato/^ ,Athnth I 

(06 Marks)

A singte ptur"*ra$d*er working at 0.SpM'#b alSsciency of 94o/o at both three-fourth

tull load an&fl.#Ad"C.i eOOi*.b"t"tt#nd-tt e efficiency at half tull load, unitv power

g*"*i"t ;irf, lap connectla ut*'t"tt. h as !: lg .uol 3yut"re 
re sistance

of S0O and 0.1C2 *?p""ri*iy, if the generator supplies sixty 100V,40W lamps' calculate

the total armature current; the current m eac-h *ut*t" conductor and the generated EMF'

c. With neat sketches explain$g; onstruction of two types of synchronous generator' (08 Marks)

j ,i
s .::i.i4 r:s,\

10 a.
b. A 6pole, 3

per slot. It

coil is tull pitdhed.

d# -t

"ffi:$P

,ftfiF2of2{.{.*
(08 Marks)


